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BES-142: PEDAGOGY OF SOCIAL SCIENCE
Time : 3 hours Maximum Weightage : 70%

Note: All questions are compulsory. All questions carry
equal weightage.

1. Answer the following question in about 600 words :

What are the aims and objectives of teaching Social
Sciences ? Discuss the concerns that need to be
addressed in teaching of Social Sciences.

OR

What is Action Research ? Describe the steps of
conducting action research in Social Sciences with
an example from class IX.

2. Answer the following question in about 600 words :

Explain the meaning and nature of Political
Science. Discuss how you will teach Political
Science to secondary school students using
discussion and debate as methods of teaching.

OR

What are Curriculum Objectives in Economics ?
Discuss how you will teach Economics to students
at secondary level using problem-based learning
and concept mapping as methods of teaching.
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3. Answer any four of the following questions in
about 150 words each :

(a)

(b)

(c)

(d)

(e)

®

Describe how you will teach “Civil
Disobedience Movement” in India to your
students.

Differentiate the functions of Legislature
from those of Judiciary in India.

Distinguish between Fundamental Rights
and Directive Principles of State Policy with
examples.

What are Latitudes and Longitudes ? How
will you teach these concepts to your
students ?

Explain the meaning and dimensions of
Sustainable Development.

What is Credit Creation ? Illustrate it with
an example.

4. Answer the following question in about
600 words :

Identify a Unit/Chapter from the subject of Social

Sciences curriculum at secondary level. Prepare a

detailed unit plan for the same.
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